FOLDING VINYL TONNEAU COVER

ADDENDUM TO INSTALLATION INSTRUCTIONS

Itis necessary for you to install these brackets in the bed of your truck in order for the tonneau cover to be securely attached.
Before starting installation, make sure that you have all the hardware necessary to complete the installation.

Hardware Kit includes:
2- Brackets (work for Driver and Passenger)
4- Hex head bolts (5/16™18x 1-1/4”)
4- Lock washers (5/16")
4- Fender washers (5/16” ID x 1-1/4” OD)
4- Hex head nuts (5/16™18)

Step 1: Line up holes in brackets with factory holes in bed.

Step 2: Insert hex head bolt through lock washer and into factory hole. Position the
fender washer behind the factory hole, over the threads of the bolt, tightening the
nut only a few threads in the hole on the driver side most forward in the truck bed.
Repeat for driver side rearward hole.

Step 3: Repeat Step 2 for the passenger side of the vehicle.

Step 4: Return to the Folding Vinyl Tonneau Cover Installation Instructions to
complete installation.

IS-1011 Revised 04-23-14
Page 1 of 1



